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Fifth Grade - Week 15 - Weekly Assessment (1)

. Write the numerical expression for the following problem and then find the
value of the expression: Divide 35 by 5, then add the result to 12.3.

. Write the numerical expression for the following problem and then find the

value of the expression: Subtract 3.1 from 4.62, then multiply the result by 2.

3. Add 2.4 and 15.7, then subtract the result from 30.

. If the input is 14 and the output is 7, what is the pattern rule?

. Write five numbers in a pattern starting with 1 and using the rule n + 2.

Fifth Grade - Week 15 - Weekly Assessment (2)

. Write the numerical expression for the following problem and then find the
value of the expression: Add 30.4, 87, and 17.5, then subtract the result from
224.7, and multiply by 100.

. Write the numerical expression for the following problem and then find the
value of the expression: Divide 93 by 0.3, then add 114.7, then divide the result
by 5.

. Maram has 150.5 pounds. She bought 4 books, each costing 35.5 pounds. What
amount does Maram have left?

. If the input is 1 and the output is 8, what is the pattern rule?

5. Write four numbers in a pattern starting with 2 and using the rule n + 3.
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Fifth Grade - Week 15 - Weekly Assessment (3)

. Write the numerical expression for the following problem and then find the
value of the expression: Add 3.5 and 4.7, then multiply the result by 2.

. Write the numerical expression for the following problem and then find the
value of the expression: Subtract 5.1 from 7.7, then multiply the result by 3.

. As part of fitness training, Mohamed cycles a distance of 38.7 kilometers in two
hours. If he maintains the same rate throughout, how many meters does he
cycle per minute?

. If the input is 12 and the pattern rule is n X 5, what is the output?

5. The next number in the pattern: 0, 3, 6,9, 12 is...






